
Y4 – Autumn – Block 4 – Step 3 – 6 times-table and division facts Answers

Question Answer

1

a) 4 × 6 = 24
b) 7 × 6 = 42
Factors may be given in other order.

2

3 × 6 = 18 
6 × 3 = 18
18 ÷ 3 = 6
18 ÷ 6 = 3

3

The numbers in the 6 times-table are double the numbers in the 3 times-table.

4

5

a) 18
b) 6
c) 24
d) 6
e) 66
f) 5
g) 36
h) 42
i) 8
j) 66
k) 60
l) 10
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Question Answer

6

72 ÷ 6 = 12          78 ÷ 6 = 13

7

The box for “odd numbers” and “multiples of 6” is empty. This is because all of the 
numbers in the 6 times-table are even.
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